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A=A (1+7%) A=A X (147%) Az=A,x(1+2%)
A=AX(1+2%)

Bi=Byx(1+7%) B,=Bx(1+7%) B;=B,x(1+2%)
B,=B3x(1+2%)

Ci=Cox(147%) Cr=C;x(14+7%) C3=C,x(1+2%)
Cy=C5x(1+2%)

Fi=Aox(1+7%)—[ Byx(1+7%)— By]—-[Cyx(1+
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7%)—Col=AX (14+7%) — B (X7%—CyX7%

Fo=AgX (1+7%)2—[ B yx(14+7%)2= By x(1+7%) ] —
[Cox(1+7%)2=Cyx (1+7%) ]=Ayx (1+7%)2— B ;x (1+
7%) X 7%—CoX (1+7%) X 7%

F3=Agx (1+7%)2x (1+2%)—[ Box(1+7%)2x (1+
2%)— B oX (14+7%)2] = [ Cyx (1+7%)2x (142% ) —Cx (1+
7%)2]=ApX (1+7%) 2% (142%) = B ;X (1+7%)2X2%—C X
(14+7%)2x2%

Fy=AX (1+7%)2X (1+2%)2—[ B (% (1+7%)2x (1+2%)2
=B ox(1+7%)2x(1+2%) ]=[ Cyx (1+7%)2x (1+2% ) 2—=C,, ¥
(147%)2x (142% ) 1=Ayx (147%)2%x (14+2%)2— B ;x (1+
7% )2X2%X (14+2%) —Cox (1+7%)2x2%x (1+2%)

T

Fyx(147%)=F, F3#F,x(1+2%) F,=F3x(1+2%)
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V=F X (P/F,R, 1) +F,x(P/F,R,2) +F3x (P/F, R,
2)/(R—g)

(2) 455 4 47 2Z 5 A R o 238 1, R iy I i 43 A ml
HI:Fy=F3x(1+g) , 0

V=F x(P/F,R,, 1) +F,x(P/F,R,2)+F;x(P/F, R,
3)+F,x(P/F,Rg,3)/(R—g)

=F; X (P/F, R, 1) +F, X (P/F, R, 2) +F3/(1+R) >+
F3x(1+g)/(R—g)x(1+R )’

=F; x(P/F,Ry, 1)+F,x(P/F,R,2)+F3/(1+R)’[ 1+
(1+g)/(R¢—g) ]

=F X (P/F, R, 1) +F,x (P/F, R, 2) +F3/(1+R,) %
(R—g)

=F;x(P/F,Ry,1)+F,x(P/F,R,2)+F3x(P/F,R,2)/
(R—g)
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